o|J
o8

@ {1,2)cA ® {1,2} €A

D oecA

® n(A) =5

@ ocA



X]-Oﬂ

L/R

™ n

of tjato]
3]—
24n
, 33n o
A
SRUESL
=
27 B
|

@
24}1
< 33n
)
24n
> 33n
®

@ 2
4n
>
2 33”
@
4n
2 33n



3. A% xyol tfste] ’;f+

O V7 @ 3

i
9

:1o] Al

® Vi3



ARG U = {x | x= 30 oI5k Ak} o = #2349 A, B ]
i5te] A = (x| x= 69 i), B= (x| x= 129 v} € O, Oh2 5
B A7

® ANB=A @ (AUB)cA

® BNAC %0 @ AcB

® A-(ANB) =0



el

op

< uREEoI.

K

® A2}

® Abtelzolwl Azrgolet.



6.

5 8% a, 000 distel pi= gol7] 1 BREAL B D27

@ p:lal+1bl£0,q:abeE 250 o] ot}
@ p:a®+b2#0,q:ab= B0 0] opc},

® p:at+b#0,q:ab+ 250 0] oyt

@ p:a®+b>+2abl #0, g:a, b= 50 °] ofHtt,

® p:a®+b>+0,q:a,b= BT 0 0] oflch



® AcB

@ A=B

DA

® B=9o

@ BcA



a b
1+a 1+5b
a b
l1+a 1+5b
a b

a>b>02 A% a bof thste] —4of 0 o) s pAE?

1+a b+1
a b
<7
l1+a " 14+0b
a b
> —
1+a  1+5b



AAZFTL U = (1,2,3,4,---,100} 2] FEAT FolA o2 F
Ag WEs, 940 A57t 4 AL TS At T 1 a(a)
5k ?

Q) 2€A

© m, neA©°l1, mneU©°|™H mneA °|th

D 6 @ 8 ® 10 @ 12

® 16






T A% A, B Hgt ta F &2 A2

O ANnB+#BNA @ AcBOo|HAUB=A
® AcBOo|HANB=B @ n(AnBN2)=0

® Ac(ANB)c(AUB)



12.

{1,3,4), AnB =4 & ),

9

@ 174 @ 271

® 37

@ 4 7

® 574



@ 4 A

AAA-TOl U = (x| 1 < x <10, x= B} o2, A

, 4,5, 6, B=1{1, 2,3, 4,SNA=9,nSNB) =3

S o] =2

@ 8 ® 16 /i @ 3271 ® 64 7l

o]
=



14. X, v ol tisto] A4t % & X kY = (XUY)-(XnY) & B eJsa,
Al A3t A, B, C 7t n(AUBUC) = 45, n(A% B) = 18, n(B%C) = 22
,n(CkA) =24 5 WHET 0, n(ANBNC) 9 F& F3H?

® 10 @ 11 @ 12 @ 13 ® 14



ol
vl
i
— ﬂ/.
2wl

<
1jo

W
Mo oy
o N
< B
AT
of o
A —
=
ol
e <
<=
=7
wz. o
o
TaNC)
ol ol

TR o

@ 10
® 15
@ 25
® 45

D 5



